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• 請列�計算過程,僅有答案,錯誤過程,均��計5.
• 作弊|零5計,並按校規處理.

1. ' Y1, . . . , Yn
iid∼ N(µ, σ2). �O Var(S2). (105)

2. ' Y1, . . . , Y5
iid∼ N(0, 1) v U = 1

4

∑4
i=1 Yi |C V =

∑4
i=1(Yi − U)2. �O 3(4U2+Y 2

5 )
2V Ý5¾. (105)

3. ' Y1, . . . , Yn }ñ!5¾v�!Ý�TÂ��²ó5½
 µ � σ2. �J S2 Î σ2 Ý��£�� .
(105)

4. ' Y1, . . . , Yn
iid∼ unif(0, θ) ¬� U = 1

θ Y(n). �O U Ý5¾Ðó¬| U 
ü÷�O× θ Ý 90% ì*
ä&§. (125)

5. ' Y1, . . . , Yn
iid∼ f(y|θ) =

{
2y
θ e−y2/θ, y > 0,

0, Í¸.
�O θ Ý MVUE. (125)

6. ' Y1, . . . , Yn
iid∼ Poisson(λ) ¬� C = 5Y 2, Y ∼ Poisson(λ). �O E(C) Ý MVUE. (125)

7. ' Y1, . . . , Yn
iid∼ f(y|θ) =

{
θyθ−1, 0 < y < 1, θ > 0,
0, Í¸.

(a) �J Y Î θ
θ+1 Ý×lÙ��. (105)

(b) �J −
∑n

i=1 lnYi Î θ Ý�5Ù��. (105)

(c) �J −2θ
∑n

i=1 lnYi ∼ χ2(2n) � E

(
1

−2θ
∑n

i=1
ln Yi

)
= 1

2(n−1) ¬O θ Ý MVUE. (145)


